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for SD= 1 overall fit, standartized back to a SD=1

N = 1000   Bandwidth = 0.178
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for SD= 0.5 overall fit, standartized back to a SD=1

N = 1000   Bandwidth = 0.1947
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for SD= 0.2 overall fit, standartized back to a SD=1

N = 1000   Bandwidth = 0.1952
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for SD= 0.1 overall fit, standartized back to a SD=1

N = 1000   Bandwidth = 0.1993
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for SD= 0.05 overall fit, standartized back to a SD=1

N = 1000   Bandwidth = 0.2053
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for SD= 0.01 overall fit, standartized back to a SD=1

N = 1000   Bandwidth = 0.207
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